	TABULATION OF BIDS				Γ					
PROJECT	Kaumualii Highway Intersection Improvements, at Lauoho Road and Kuli Road									
PROJECT NO.:	50C-01-18									
NET LENGTH:	0.22 Miles				EARTHWORK	S PACIFIC INC.	GOODFELLO	W BROS. LLC		F HAWAII MENT OF
ISLAND: DISTRICT:									TRANSPO	
DATE ADVERTISED: BID OPENED:		the second se	Quantities ese columns]						
COMPLETION TIME:	120 Working Days	are for in-	house use.							
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	2,000	SY	LS	\$35.00	\$70,000.00	\$84.00	\$168,000.00	\$30.00	\$60,000.00
203.0100	Roadway Excavation	2,700	СҮ	FA	\$50.00	\$135,000.00	\$155.00	\$418,500.00	\$120.00	\$324,000.00
203.0200	Borrow Excavated Material	220	CY	FA	\$55.00	\$12,100.00	\$125.00	\$27,500.00	\$225.00	\$49,500.00
209.0100	Installation, Maintenance, Monitoring and Removal of BMP	LS	LS	LS	LS	\$30,000.00	LS	\$220,000.00	LS	\$50,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	FA	\$50,000.00	FA	\$50,000.00	FA	\$50,000.00
304.0100	Aggregate Base	2,100	CY	Ton	\$335.00	\$703,500.00	\$420.00	\$882,000.00	\$150.00	\$315,000.00
401.0400	HMA Pavement, Mix No. IV	450	TN	Ton	\$450.00	\$202,500.00	\$397.00	\$178,650.00	\$300.00	\$135,000.00
401.0410	PMA Pavement, Mix No. IV	650	TN	Ton	\$500.00	\$325,000.00	\$454.00	\$295,100.00	\$325.00	\$211,250.00
401.9000	Pavement Smoothness Incentive	Allow	Allow	Ton	Allow	\$1,900.00	Allow	\$1,900.00	Allow	\$1,900.00
415.0110	Cold Planing	5,200	SY	LS	\$11.00	\$57,200.00	\$9.80	\$50,960.00	\$30.00	\$156,000.00
503.0100	Concrete in Retaining Wall No. 2	45	CY	FA	\$1,200.00	\$54,000.00	\$3,500.00	\$157,500.00	\$1,200.00	\$54,000.00
603.0100	Clean Existing Culverts	FA	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
603.0200	Bed Course Materail for Culvert	35	CY	FA	\$600.00	\$21,000.00	\$450.00	\$15,750.00	\$175.00	\$6,125.00
603.0300	24-Inch Reinforced Concrete Pipe, Class III	330	LF	EA	\$295.00	\$97,350.00	\$335.00	\$110,550.00	\$400.00	\$132,000.00
604.0300	Type 6164P Grated Drop Inlet, 8 Feet to 8.99 Feet	4	EA	EA	\$20,000.00	\$80,000.00	\$30,000.00	\$120,000.00	\$30,000.00	\$120,000.00
604.0400	Type A Storm Drain Manhole, 5 Feet to 5.99 Feet	1	EA	EA	\$16,000.00	\$16,000.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
	Guardrail, 31-Inch Strong Post Midwest Guardrail System with 8-Feet Post and 8-Inch Offset Block	238	LF	LF	\$90.00	\$21,420.00	\$82.00	\$19,516.00	\$120.00 Sheet No. 1 of 4 S	\$28,560.00

Sheet No. 1 of 4 Sheets

	0.22 Miles Kauai Koloa May 5, 2022 June 9, 2022	** NOTE: shown in the are for in-hou **APPROX. QUANTITY	se columns	UNIT USED	EARTHWORKS	S PACIFIC INC.	GOODFELLC UNIT PRICE	W BROS. LLC	DEPARTI TRANSPO	F HAWAII MENT OF DRTATION S DIVISION
			• • • • • • • • • • • • • •							
	Guardrail, 31-Inch Strong Post Midwest Guardrail System with 8-Feet Post and No Offset Block	513	ĹF	LF	\$90.00	\$46,170.00	\$82.00	\$42,066.00	\$100.00	\$51,300.00
606.7000	W-Beam End Section (Rounded (RWE03a)	5	EA	LF	\$120.00	\$600.00	\$3,500.00	\$17,500.00	\$200.00	\$1,000.00
	MGS Transition to Strong Post Guardrail with 8-Feet Post and 8-Inch Offset Block	29	LF	LF	\$95.00	\$2,755.00	\$82.00	\$2,378.00	\$120.00	\$3,480.00
612.0100	Grouted Rubble Paving	300	CY	LF	\$200.00	\$60,000.00	\$600.00	\$180,000.00	\$500.00	\$150,000.00
629.1004	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	330	LF	LF	\$3.50	\$1,155.00	\$20.00	\$6,600.00	\$3.00	\$990.00
	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	300	ĿF	LF	\$7.00	\$2,100.00	\$3.00	\$900.00	\$5.00	\$1,500.00
	Double 4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	1,800	ĹF	LF	\$7.00	\$12,600.00	\$4.00	\$7,200.00	\$5.00	\$9,000.00
629.1022	6-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	2,300	LF	LF	\$4.50	\$10,350.00	\$6.00	\$13,800.00	\$3.00	\$6,900.00
629.1030	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	200	LF	LF	\$9.00	\$1,800.00	\$11.00	\$2,200.00	\$6.00	\$1,200.00
629.1052	12-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	220	ĹF	LF	\$12.00	\$2,640.00	\$71.00	\$15,620.00	\$8.00	\$1,760.00
629.1054	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	60	LF	LF	\$12.00	\$720.00	\$10.00	\$600.00	\$8.00	\$480.00
629.1100	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	4	EA	LF	\$350.00	\$1,400.00	\$300.00	\$1,200.00	\$500.00	\$2,000.00
629.1110	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion)	6	EA	LF	\$225.00	\$1,350.00	\$300.00	\$1,800.00	\$500.00	\$3,000.00
629.2020	Type C Pavement Marker	150	EA	EA	\$13.50	\$2,025.00	\$5.00	\$750.00	\$10.00	\$1,500.00
629.2030	Type D Pavement Marker	50	EA	EA	\$13.50	\$675.00	\$5.00	\$250.00	\$10.00	\$500.00
L	1		· · · · · · · · · · ·	-			1	I	Sheet No. 2 of 4 Sh	neets

ITEM NO. ITEM ITEM ITEM ITEM UNIT UNIT	AMOUNT
629.2050 Type H Pavement Marker 400 EA EA \$13.50 \$5,400.00 \$5.00 \$2,000.00 \$10.00 631.0100 Regulatory Sign (10 Sq. Ft. or Less) w/ Post 4 EA EA \$700.00 \$2,800.00 \$610.00 \$2,440.00 \$600.00 631.0200 Warning Sign (10 Sq. Ft. or Less) w/ Post 4 EA EA \$675.00 \$2,700.00 \$585.00 \$2,340.00 \$600.00 631.0400 Supplemental Plaque 4 EA EA LF \$170.00 \$680.00 \$150.00 \$600.00 \$300.00	ļ
631.0100 Regulatory Sign (10 Sq. Ft. or Less) w/ Post 4 EA \$700.00 \$2,800.00 \$610.00 \$2,440.00 \$600.00 631.0200 Warning Sign (10 Sq. Ft. or Less) w/ Post 4 EA EA \$675.00 \$2,700.00 \$585.00 \$2,340.00 \$600.00 631.0400 Supplemental Plaque 4 EA EA LF \$170.00 \$680.00 \$150.00 \$600.00	\$20.00
631.0200 Warning Sign (10 Sq. Ft. or Less) w/ Post 4 EA EA \$675.00 \$2,700.00 \$585.00 \$2,340.00 \$600.00 631.0400 Supplemental Plaque 4 EA EA LF \$170.00 \$680.00 \$150.00 \$600.00 \$300.00	\$4,000.00
631.0400 Supplemental Plaque LF \$170.00 \$680.00 \$150.00 \$600.00 \$300.00	\$2,400.00
	\$2,400.00
632 0120 Reflector Marker (RM-3) 11 FA LE \$310.00 \$3,410.00 \$275.00 \$3,025.00 \$300.00	\$1,200.00
	\$3,300.00
632.0500 Milepost Maker with Post (Bi-Directional) 1 EA LF \$625.00 \$560.00 \$560.00 \$500.00	\$500.00
632.1010 Type II Object Marker (OM2-2H) 5 EA LF \$125.00 \$625.00 \$110.00 \$550.00 \$75.00	\$375.00
632.1050 Type V Object Marker (OM-5) LF \$400.00 \$3,200.00 \$360.00 \$2,880.00 \$550.00	\$4,400.00
639.0100 Curb, Type 6 LF LF LF \$65.00 \$13,000.00 \$70.00 \$14,000.00 \$80.00	\$16,000.00
641.0100 Hydro-Mulch Seeding LS \$50.00 \$40,000.00 \$50.00 \$40,000.00 \$50.00	\$40,000.00
643.0110Maintenace of Existing LandscapeFAFAFA\$30,000.00FA\$30,000.00FA	\$30,000.00
645.1000 Traffic Control LS LS LS LS \$175,000.00 LS \$350,000.00 LS	\$50,000.00
645.2000Additional Police Officers, Additonal Traffic Control Devices and Additional AdvertisementFAFAFA\$50,000.00FA\$50,000.00FA	\$50,000.00
648.1000 Field-Posted Drawings LS LS LS LS LS LS LS LS \$2,500.00 LS \$500.00 LS	\$1,500.00
663.0100 Erosion control Matting LS \$22.00 \$17,600.00 \$50.00 \$40,000.00 \$50.00	\$40,000.00
Sheet No. 3 of 4 Sl	

......

PROJECT:	Kaumualii Highway Intersection Improvements, at Lauoho Road and Kuli Road						
PROJECT NO.:							
NET LENGTH:	0.22 Miles				FARTHWORK	S PACIFIC INC.	GOOD
ISLAND: DISTRICT:							
DATE ADVERTISED:				т			
BID OPENED:	June 9, 2022		Quantities ese columns				
COMPLETION TIME:	120 Working Days	are for in-h	the second s				
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	UNIT USED	UNIT PRICE	AMOUNT	UNIT P
		QUANTIT				ANICONT	UNITE
671.1000	Protection of Threatened and Endangered Species	FA	ĒΑ	FA	FA	\$10,000.00	FA
694.0100	Contractor Furnished Portable Concrete Barrier	LS	LS	LS	LS	\$230,000.00	LS
694.0200	Inertial Barrier Module	LS	LS	LS	LS	\$75,000.00	LS
699.1000	Mobilization (Not to Exceed 6 percent of the Sum of All Items Excluding the Bid Price of this Item)	LS	LS	LS	LS	\$160,000.00	LS
	, ,	1		1	1		1
	SUM OF ALL ITEMS					\$2,865,877.00	
	Hawaii Product Preferences					\$500.00	
	Hawaii Apprenticeship Programs Preferences					\$143,293.85	
	AMOUNT FOR COMPARISON OF BIDS					\$2,722,083.15	

DFELLOW BROS. LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION						
PRICE	AMOUNT	UNIT PRICE	AMOUNT					
=A	\$10,000.00	FA	\$10,000.00					
LS	\$240,000.00	LS	\$100,000.00					
LS	\$60,000.00	LS	\$20,000.00					
LS	\$211,000.00	LS	\$141,542.40					
	\$4,118,695.00 \$25,289.00 \$205,934.75 \$3,887,471.25		\$2,500,582.40 \$0.00 \$2,500,582.40					